Fl #

E}%

&

AetE6 H 25 H (k) #HYT

fii AT A | SR

T TEZ R BB o SRR R B RS S 2Rt

E
24021208
ESN T FHETHRTAA N
(BA7 2 )
£ & % %1 B AKLEE % 2 A AFLEE % 3 [Bl AFLEE i G2
FEIR
FHETH RS =
HREAE T2 ) —
UHRZE 1, 826, 650
e ==y
N 2,149, 000
MRSt B xHE
BRESE R 1, 826, 650
B Stk
1, 826, 650
IHEHE
EE HAStt
(2, 009, 315) %FL
S/ V= S W 1S w1
1, 826, 650 LItk

(fi5) EREAAHITI005 D 10ITHY T 284 IS L7 @BARFHE L0 RIABIR Dl Tdb 5,

T E il B 2,363, 900
AALE AR (2,149, 000H )
S5 K il BE A A 2,009, 315/
AALEEOEAAE  ( 1,826,650H )
ML B AR L0 2 B O 7 W 2 B 4 A & D)




